
1) 515 * 53

55

Answer: ____________

2) 611 * 619

Answer: ____________

3) Simplify 14:20

Answer: ____________

4) Decrease 60 by 35%

Answer: ____________

5) Simplify 1:9

Answer: ____________

6) Increase 234 by 2/117

Answer: ____________

7) Factorise 6q2 + 13q + 7

Answer: ____________

8) Decrease 40 by 15%

Answer: ____________

9) Factorise 9q2 + 24q + 7

Answer: ____________

10) Increase 174 by 5/87

Answer: ____________

11) Simplify 17:4

Answer: ____________

12) n9 * n20

Answer: ____________

13) 511 / 514

Answer: ____________

14) Decrease 30 by 30%

Answer: ____________

15) Increase 172 by 3/86

Answer: ____________

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

December 05, 2023

Sr: 05122023-3405

 

http://www.geekschool.co.uk


16) Factorise 4f2 + 12f + 5

Answer: ____________

17) Increase 195 by 1/39

Answer: ____________

18) Factorise 8d2 + 30d + 18

Answer: ____________

19) Factorise 3f2 + 22f + 19

Answer: ____________

20) 610 * 614

Answer: ____________

Total: ___ / 20
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Answers:

1) 513 2) 630 3) 7 : 10 4) 39 5) 1 : 9 6) 238 7) (6q + 7)(q + 1)

8) 34 9) (3q + 7)(q + 1) 10) 184 11) 17 : 4 12) n29 13) 5-3 14) 21

15) 178 16) (2f + 5)(f + 1) 17) 200 18) (2d + 6)(d + 6) 19) (3f + 19)(f + 1) 20) 624
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